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QUESTION 1

If an EX Series switch receives a frame with a known destination MAC address, what is the expected behavior? 

A. The frame is sent out all ports assigned to the associated VLAN except the ingress port on which the frame was
received. 

B. The frame is sent out all ports assigned to all configured VLANs except the ingress port on which the frame was
received. 

C. The frame is sent out all trunk ports associated with the ingress VLAN regardless of whether a matching MAC
address was found in the bridge table. 

D. The frame is sent out the egress port with a matching destination MAC address within the bridge table associated
with the ingress VLAN. 

Correct Answer: D 

 

QUESTION 2

You are configuring OSPF and want to ensure that interface ge-0/0/3 is preferred over interface ge-0/0/4. 

Which statement is correct in this scenario? 

A. Configure ge-0/0/3 with a higher metric. 

B. Configure reference bandwidth. 

C. Configure a redistribution policy. 

D. Configure ge-0/0/4 with a higher metric. 

Correct Answer: D 

 

QUESTION 3

Which two statements about RSTP are correct? (Choose two.) 

A. RSTP is backward compatible with STP. 

B. RSTP permits multiple root bridges within a Layer 2 domain. 

C. RSTP permits only a single root bridge within a Layer 2 domain. 

D. RSTP is not backward compatible with STP. 

Correct Answer: AC 

 

QUESTION 4
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What are three reasons a router would send out an IS-IS link-state PDU? (Choose three.) 

A. A new external route is imported from BGP. 

B. The router\\'s link to a neighbor goes down. 

C. A new neighbor exists on the link. 

D. The cost of a link to an existing neighbor has changed. 

E. IS-IS sends link-state PDUs at random intervals. 

Correct Answer: BCD 

 

QUESTION 5

Click the Exhibit button. 

You are implementing the network shown in the exhibit. You must ensure that all users can communicate with each
other. 

What are three steps that should be taken in this scenario? (Choose three.) 

A. You must specify the appropriate Layer 3 IRB interface under each VLAN. 

B. You must define all ports as trunk ports and include all VLANs as members. 

C. You must define all ports as access ports and include the appropriate VLAN as a member. 

D. You must configure a single logical IRB interface with an IP address for each of the three networks. 

E. You must create a unique logical IRB interface for each network and assign an IP address within the appropriate
network. 

Correct Answer: ACE 
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